____________________________________


_________________

ime i prezime






datum

Jednačine i nejednačine – dodatni listić
2. 
X + 387 < 500 
259 + X > 963

X – 456 > 167

900 – X < 745

______________
______________
______________
______________

______________
______________
______________
______________


______________
______________
______________
______________

3.
(367 + X) + 138 = 1000 

245 + (X + 68) = 513

_____________________

____________________

_____________________

____________________


_____________________

____________________


_____________________

____________________

4. 
(154 + X) – 178 = 369 

634 – (X – 126) = 126


_____________________

____________________

_____________________

____________________


_____________________

____________________


_____________________

____________________

5. 
(450 – X) – 134 = 56


800 – (X + 256) = 375 

_____________________

____________________

_____________________

____________________


_____________________

____________________


_____________________

____________________

